ZFAEHE 1HEB(10A29R)

BHAIRAZ SCORE NS -2
D1 FEEB - AFE X 0-6,1-6 @] =ES - NH
D2 L7 N == @] w.o. X
S1 REHBLEE X 2-6,2-6 @] AESL< S
S2 Sl X 2-6,5-7 O IREBBE
S3 HpEE O w.o. X
TOTAL 2 b1t 3
S1-2
LFEASH 2088 (11812H)
BEKE SCORE SR AR
D1 B - AT X 4-6,0-6 O TEER - BEAS
D2 X W.0. O REH - =i
s1 At x 0-6,0-6 )
S2 Y x 1-6,0-6 [8)
S3 MHEER @) 6-2,6-3 X RENE
TOTAL 1 D02 4
S1-2
LFEAH 3HEH (11A13H)
N -PN=a SCORE BEKE
D1 =EB - H @] 6-0,6-0 x Al - PR
D2 X W.0. O
S1 REEE @] 6-2,6-2 X wiHLE
S2 WEE <D o) 6-0,6-0 x PRERSE
S3 x w.o. O
TOTAL 3 b1t 2
S2-1




